Grade 10 Mathematics
Analytical Geometry
SUMMARY

MIDPOINT BETWEEN
TWO COORDINATES

DISTANCE BETWEEN TWO
COORDINATES (x1; y1) and (x2; y2)

GRADIENT BETWEEN TWO COORDINATES
(x1; y1) and (xz; y2)

(x1; y1) and (xz; v2)

(x1 + X2 N1 +3’2)
2 2

Virz —x1)2 + (y2 — '1!4'1)2

differenceiny y, —y,

Determine the length of the line

segment (Distance between two

Gradient = =
differenceinx x, —x;
Example 2 Example 3

Determine the gradient of the line segment
between the following points:

Example 1

Determine the
midpoint M between

points) between the following

points: A (-5;-9) and B (3; 2)

P (-3; 5) and Q (-1; -5)

the points A (-2; 1)

and B (1; -3,5)

Answer

Example 1

Let the coordinates of A be (z,;y: ) and the coordinates of B be (rz; ).

rs=1 pa=-315
Substitute values into the mid-point formula:

I:|=—2 H|=1

Example 2
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The mid-point is at M (—0,5; —1,25).
Example 3
Saollution:
Let the osondinates of A be (x,; 1y, ) and the coordinates of B be [xg; g )
Ty =—58 pu=—"0 x3=98 g==2
g — B2
_ 29
T 83_[—5) Answer to Example 4
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3 a. Parallel lines have equal
REMEMBER Example 4: gradients so m = 3 of
other line.
e Parallel lines have equal a. Determine the gradient of b. myxm, =-1
Gradients the line parallel to y=3x+4 3Xxm, =-—1
e Perpendicular Lines b. Determine the gradient of 3m, = —1
m; Xm, =—1 the line perpendicular to 1 1
y=3x+4 m; =5=73




